




Task 2 

  

Read the following article on the age of responsibility -   

 

https://www.bbc.co.uk/news/newsbeat-50763713 BBC News Responsible Child: 

Can a 10-year-old be a cold-blooded murderer? 

(by Serena Kutchinsky) 
 

Choose a side and give your argument as to why this age is appropriate or 

inappropriate for criminal responsibility. Use the article to help.  

Research other children who have killed and try to add this research into your 

argument to validate it, as well as the points made in the article. Remember if 

you make a statement, you need to back up what you are saying with evidence 

you have gathered for it for example,  

“By setting the age of criminal responsibility at 10, it allows flexibility in 

the addressing of offending behaviour by children, whilst allowing early 

intervention to help prevent further offending.” 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://www.bbc.co.uk/news/newsbeat-50763713


 

Task 3  

 

Watch the TED talk – “Exploring the mind of a killer” with 

Jim Fallon  
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Watch the TED talk Watch the TED talk 

https://www.ted.com/talks/jim_fallon_exploring_the_mind_of_a_killer?language=en


Task 4  

 

Do you believe in the death penalty?  

 

Give your top 5 arguments for why we should 

have/shouldn’t have the death penalty, 

depending on what you believe.  

 

You need to give valid, reasoned arguments. 

You can use real cases to support what you are saying.  

 

Try to think as a criminologist and don’t just rely on your personalised feelings 

e.g. do not say it is wrong because… “I don’t believe in it”



 



     

Task 6 

 

Watch the TED talk given by Zimbardo and The 

Stanford Prison Experiment. If you are interested 

further there is a Hollywood movie by the same 

name ‘The Stanford Prison Experiment’ directed 

by Kyle Alvarez. It’s available on Netflix, Amazon 

and to rent on YouTube and googleplay amongst 

others.  

 

TED talk link:  
https://www.ted.com/talks/philip_zimbardo_the_psychology_of_evil?language=en 

 

 

 

Task 7 

 

https://www.ted.com/talks/philip_zimbardo_the_psychology_of_evil?language=en


 

Task 8   

 

Familiarise yourself with the world of true crime investigation. There 

is a channel dedicated to this on Sky if you have it called Sky Crime. 

Netflix has lots of true crime documentaries, Amazon has books and 

films as well as documentaries available to view online. You can use 

YouTube, search for videos online and use iPlayer to catch previously 

aired programmes. Try to immerse yourself in the study of crime and 

listen, read and watch as much as possible. Watch one of the 

following and be prepared to feed back to class when you start the 

course… 

 

ü The acclaimed Netflix programme- ‘Making a 

Murderer’  

ü ‘Tiger King’ -documentary series on Netflix  

ü The documentary on Amanda Knox on Netflix or 

link for you tube https://youtu.be/LQFNbu4BMWI 

or Netflix/Amazon 

ü The Staircase – watch the documentary on Netflix 

or the drama adaptation on Sky Atlantic 

ü https://www.youtube.com/watch?v=7czgQRUUuT0&list=PLKLYdlwQ1baNeEWZelkhJEgEVnv

LpnPEv&index=4 Inside Death Row with Trevor McDonald (if the 

links don’t work use an alternative copy to watch) 

ü The Keepers series on Netflix (this is about sexual abuse 

and a murder) 

ü Dahmer – Netflix (drama on the serial killer) 

ü Killer Inside: The Mind of Aaron Fernandez- how identity 

and head injury may have turned an athlete to a murder 

(Netflix) 

ü American Murder: the family next door (Netflix 

documentary about Chris Watts and the murder of his wife and 

daughters) 

https://youtu.be/LQFNbu4BMWI
https://www.youtube.com/watch?v=7czgQRUUuT0&list=PLKLYdlwQ1baNeEWZelkhJEgEVnvLpnPEv&index=4
https://www.youtube.com/watch?v=7czgQRUUuT0&list=PLKLYdlwQ1baNeEWZelkhJEgEVnvLpnPEv&index=4




Task 9 

http://www.wjec.co.uk/

